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2. Old Style
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a) Write an equation for the output of A
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b) Write an equation for the output of B







c) Solve A<B
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4. New Style

SIMULTANEOUS EQUATIONS.
The pictures in each row or column add
 up to the numbers shown.
Find the value of each picture.
Show how you could work this out using algebra.
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= 76
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=66
	
=64
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image1.tiff
2 (a) The amounts spent by 50 customers at a shop one Saturday in November are shown.

Amount spent, x (£) | Frequency

0<x<10 18
10<x<20 13
20<x<30 12

30<x<40 7
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18

Here is some information about the number of books read by a group of people in 2014

One of the frequencies is missing.

Number of books Frequency Midpoint
0-4 16 2
5-9 7
10-14 20 12
15-19 10 17

Midpoints are used to work out an estimate for the mean number of books read.

The answer is 8.5

Work out the missing frequency.

[5 marks]





image3.tiff
19 Here are two function machines, A and B.

Input Output
A C\—F square > add 6 /5

Input Output
B Q >—| subtract3 —> square —> / >

Both machines have the same input.
Work out the range of input values for which

the output of A is less than the output of B.
[4 marks]
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The diagram shows an algebra addition table.
The total for each row and column is given.

Work out the values of x, y and z.
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